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FERMEANDRBIR NRAFTEAN (LB - D DIRIERGS

(B : M)
1= BIEE SfE XTRILERELE

I WA (1) F#H 10,116,000 9,972,000 99%
(2) =ZofuRA 0 0 0%
LU A & (A) 10,116,000 9,972,000 99%
AN ST 28R 0 0 0%
IRA &5t (B) 10,116,000 9,972,000 99%
(1) HxE 5,576,943 5,718,575 103%
EHE 1,498,700 1,524,100 102%
REEE 551,077 724,092 131%
SHEmE 235,798 130,205 55%
ENRl REAE 634,700 634,700 100%
BEERE 182,803 154,408 84%
SER 1,659,410 1,783,595 107%
I =i =ik 28,075 46,459 165%
FErl 786,380 721,016 92%
(2) =18E 7,876,302 7,344,832 93%
ANFE 5,605,329 5,184,771 92%
EERAE 915,946 841,590 92%
—REIEE 1,355,027 1,318,471 97%
(3) =&z 0 0 0%
YsZHHEE (c) 13,453,245 13,063,407 97%
LARUNST Z=ER (A) - (C) -3,337,245 -3,091,407 93%
BFHAfRMUNZ=E (B) - (C) -3,337,245 -3,091,407 93%




